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/* listO.c 2008-10-14 */
/* print_list() ver.1l %/
void print_list(Node *t) /* printing list */
L 000 void(DOOD0DOD0)DD0D0DOO
?ﬂﬂt*mm!=wm> OO0 int 000000000000 (O
t = t->next; 00D000000)000000000
) printf(" -> %d", t->val); 000000000000 00000
printf(".\n"); D0000000000000O0OoOoO
printf() 0 int 0000000 (00O
return;
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/* listO.c 2008-10-14 */
/* print_list() ver.2 */
void print_list(Node *t) /* printing list */
{
while( t != NULL )
{
printf (" -> %d", t->val);
t = t->next;
}

printf(".\n");

return;

gobobbooobbboooobobboooobbbooooboboo

—2008 0000 OOOOIV (D0O:00000) 12—



34 0000D0000O0Oon

gdddoooooououbooooouoooooooboobboooooooooooobbbobbboobb
goobbooouobbbooooboboo

ggoboobbodooooobooboobbodoooooboobboooooobobobbdoooobbbbooouon
goboboooon

(1) D0000O000o0oo0ooOO0oDO0o0oOoUDUDUODOUOOOO
(2) 0000000000000 O0O00O0 (000000000 0)0000000000D000O00O00O0
0 (000000000000 0000)00000O00O00O0OO0

Y.
Y
y

03: 00000000000
0 .00+« 000000000000 deleteNode() DOODOOOOO

void delete_Node( Node *p )
{

p—>next = p->next->next;

return;
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/* listl.c 2008-10-21 x/
#include <stdio.h>
#include <stdlib.h>

typedef struct node {
int val;
struct node *next;
} Node;

void print_list( Node * );
void delete_Node( Node * );

int main( int argc, char **argv )
{

int a;

Node head, *target;

target = &head;

while( scanf("%d",&a), a != 0 )

{
target->next = (Node *)malloc(sizeof(Node));
target = target->next;
target->val = a;

}

target->next = NULL;

print_list (&head);

/* delete if val is greater than a */
scanf ("%d" ,&a) ;
target = &head;
while( target->next != NULL )
{
if ( target->next->val > a )
delete_Node(target);
else
target = target->next;
}
print_list (&head);

return O;
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free(p);
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void delete_Node( Node *p )
{
Node *t;

t = p—>next;
p—>next = t->next;

free(t);

return;
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void free(void *)
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int a;

free(&a);
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typedef struct node *Link; 000
struct node {
int wval;
Link next;
};
int main( int argc, char **argv )
{
Link head, target;
head = (Link)malloc(sizeof (struct node));
head->next = NULL;
}
gododguobbooobobooooo
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